Questionnaire on Compensation of Employees in Government
(Country _____________________)
The information from this questionnaire is used to calculate Purchasing Power Parities for Government Final Consumption Expenditure. In a separate attachment you will find descriptions of ten occupations for which you are requested to provide the following information on compensation of employees and the numbers of hours and days worked by employees in these occupations.   
	Questionnaire on Compensation of Employees in Government

	

	Occupation code number
	

	Occupation description
	

	

	          Gross wages and salaries in cash
	

	plus    Employers’ actual social contributions
	

	plus    Employers’ imputed social contributions 
	

	plus    Income in kind: housing
	

	plus    Income in kind: food and meals
	

	equals Annual compensation of employees
	

	

	Number of regular hours actually worked per week
	

	Number of days of annual leave per year
	

	Number of public holidays per year
	

	

	Year for which data are reported 
	

	

	Currency unit
	


Explanatory notes
This questionnaire refer to employees of central government and should be national averages of compensation of employees for the persons in each occupation who are paid from the central government budget in the capital city and in other cities or rural areas. In some countries certain types of employees – e.g. teachers or the police – may be paid only from state or local government budgets; in this case you should provide compensation of employees for persons employed from these budgets.
Occupation code number and occupation description are taken from the list of Government Occupations for ICP. 
Gross salaries and wages in cash are to be reported before deduction of taxes and social contributions payable by employees. They consist of two components:
· Basic salaries as laid down in the salary scale. The Box below explains how salary scales are used to obtain basic salaries.
· Other payments, over and above the basic salary, such as: housing or residence allowance, passage or leave allowance, family allowance, special duty allowance or acting allowance, 13th month pay and other cash payments, but not overtime payments. These payments over and above the basic salary are usually a fixed percentage of the basic salary.
Employers' actual social contributions are payments made by general government for the benefit of their employees and cover contributions for old age pensions, and for insurance against sickness, accident and disability.  
Imputed social contributions represent the counterpart to social benefits paid directly by general government institutions without participating in, or establishing a fund, reserve or other special scheme for this purpose.  Since these contributions do not involve actual cash flows, they have to be imputed.  The imputations have to be done in line with the corresponding imputations made in the national account. 
Income in kind: housing is the cost to the employer of providing free or subsidised housing to employees.

Income in kind: food and meals is the cost to the employer of providing free or subsidised food or meals to employees.
Number of regular hours actually worked per week. 

· The number of regular hours excludes overtime. 

· The number of hours worked excludes time allowed for lunch or prayer breaks.

· In some countries government employees are paid such low wages that they are allowed to work less hours than are stipulated in their contracts in order that they can earn extra money in a second job. In such cases, please record the usual number of hours actually worked.   
Number of days of annual leave per year refers to paid leave. It excludes days that may be allowed for paid sick leave, maternity leave, compassionate leave, or public holidays.   
Number of public holidays per year refers to the number of public holidays such as bank holidays, religious festival days, independence days, and any other regular holidays that are declared to commemorate special events.
	Determining the basic salary for a selected occupation using a salary scale

	Grades and Categories
	Steps

	
	1
	2
	3
	4
	5
	6
	7

	
	
	
	
	
	
	
	

	P4
	88,900
	91,400
	93,900
	96,400
	98,900
	101,400
	103,900

	P3
	76,800
	78,800
	80,800
	82,800
	84,800
	86,800
	89,000

	P2
	66,100
	67,900
	69,700
	71,500
	73,300
	75,100
	76,900

	P1
	53,600
	55,000
	56,400
	57,800
	59,200
	60,600
	62,000

	
	
	
	
	
	
	
	

	T4
	47,900
	49,500
	51,100
	52,700
	54,300
	55,900
	57,500

	T3
	41,200
	42,600
	44,000
	45,400
	46,800
	48,200
	49,600

	T2
	35,500
	36,700
	37,900
	39,100
	40,300
	41,500
	42,700

	T1
	31,100
	32,100
	33,100
	34,100
	35,100
	36,100
	37,100

	
	
	
	
	
	
	
	

	W4
	34,700
	35,700
	36,700
	36,800
	36,900
	37,000
	37,100

	W3
	31,300
	32,300
	33,300
	34,300
	35,300
	36,300
	37,300

	W2
	28,400
	29,200
	30,000
	30,800
	31,600
	32,400
	33,200

	W1
	25,700
	26,500
	27,300
	28,100
	28,900
	29,700
	30,050

	
	
	
	
	
	
	
	

	1.     Employees in public administrations are usually paid on the basis of a salary scale such as in the table shown above.  In this example, the scale is divided into grades – P, T and W.  Grades generally correspond to levels of education or skills.  

2.    Within grades there are categories (four in this example) and each category is itself divided into steps - 1 to 7 in this example.  Each step is usually 12 months, though steps of 18 or 24 months are not uncommon.  For each selected occupation the category that is most representative in each country is to be identified.  Representative here means the modal category associated with the selected occupation. The appropriate step within the category is determined by the seniority specified for the selected occupation.  

3.    Take, for example, a Draughtsman–occupation number 219 in the list of Government Occupations for ICP.  If the distribution of Draughtsmen is 15 per cent T1, 25 per cent T2, 35 per cent T3, 20 per cent T4 and 5 per cent P1, then T3 is selected as the modal category.  
4.      Unless the years of seniority are stated in the occupation description, 5 years seniority should be used to determine the annual salary. Thus if each step is 12 months, the salary for category T3 with five years seniority will be 46,800 (equivalent to five steps).  But if each step was 18 months or 24 months, five years seniority would be equivalent to four steps and a salary of 45,400 in the case of 18 month steps and to three steps and a salary of 44,000 in the case of 24 month steps.  


Comments. 

Questionnaire completed by:


Mr/ Mrs/ Ms________________________________________


Job title ____________________________________________


e-mail _____________________________________________


Telephone __________________________________________


Address ____________________________________________


___________________________________________________


Country_____________________________________________


Date _______________________________________________  
